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PR ] o S 7,920 7,920 0
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1.9 8 A7 2,000 2,000 0
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6. %7 Hot 64,450 64,450 0

1.994] 2,700 2,700 0
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1.95% 1,500 1,500 0

8. & Ay 5,865 5,865 0
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St ei(m) 1,000 0 1,000
A ez 9==) ELCHCERE 1 9]
TR 1,000 0 1,000 ig;j—zT)*EJU =¥+ 200,000 1,000,000
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2 b} EL:TL3—|—U—~| ] 51';(] J(é 9,000 9,000 0
H_EA)
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3. EAAY X1 2,700 2,700 0
3.3 S GET R 2,300 2,300 0
1. Y WkE8h| 2,100 2,100 0
2. WELG) 200 200 0
4,788t 5 A = 7,740 7,740 0
1. 05 H| 7,740 7,740 0
5. 2498t FdvE FEA &
5,000 5,000 0
3] (&)
1. 058 H| 2,500 2,500 0
2. 5 A Y G HF-F30] 2,500 2,500 0
6.%% WALWFHA HAZ 5w
S (%) 9,000 0 9,000
A& 922=)7FALH] o)1 S
g5y 350 0 g50| (B HA2F)A] ¢ 350,0004+178+12] 350,000
2. WA Y E X0 1,500 0 1,500 | =41 IH] © 20,0009 %257 +33] = 1,500,000
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7.3 ¥ AHgn &9 5.000 0 5.000
v (5
2] 7& =\7}A}n . 0_] hus] 3
2. W) 3,150 0 3,150 (A EGH_23)&dH] : 50,0009253] = 1,250,000
(fé%ﬁ_ﬁ)% ZFET-9) 100,000 %19 1,900,000
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V (AHEH_2F)F I3 Au] 2 A9
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1. 99k=4-n) 5,440 5,440 0
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2. S5 EA N 650 650 0
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1. 7)1 2HA| 2 A1 720 21,529 21,529 0
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2. A8 EE 22,800 22,800 0
378 12,600 12,600 0
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